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考试科目：物理化学 (答案全部写在答题纸上)  
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1.  "#$%&'()*+,-./0.123456789______:;<=>3?@A
    

A. BS=Q/T    B. BS=BH/T    C. BS=(BHCBG)/T    D. BS=nR ln(V2/V1)  

2.  298 K DEF67 2 SO3(g)  ==  2 SO2(g) + O2(g) 
3GHIJKLM

Kp
�(1)-67

  2 SO2(g) + O2(g)  == 2 SO3(g) 
3GHIJKL

Kp
�(2) = _______________

A
    

    A. Kp�(1)        B. CKp�(1)         C. 1 / Kp�(1)        D. [Kp�(1)]1/2 
3.  NO 25PDGHQRQS E�(Ag

+ T
Ag)=0.799 V-E�(Cu

2+ T
Cu)=0.337 V

A
25PDQU 

                           Cu
T
Cu

2+
(a=1) VAg+(a=1) TAg      3QWS

E=______V
A
 

A.  –0.462        B.  0.462          C.  –1.136          D. 1.136         

4.  0.1 mol XdmY33KIZ[\.]^30.08 mol XdmY33AgNO3Z[F_-̀ a3
AgIZbcd9e2fgQhiZ[jklm-knlmopqr3s___________t 
  A.  Na2SO4           B. ZnCl2           C. Na3PO4         D. AlCl3     

5.  uvgwWxy3zc{Ln-\|}wW~���3s______________A 
A. qt            B. qv               C. qr               D. qt\ qv     

6.  �=>n|}3c�������c�A/� T
2-c�u����M 1

3��o��
2� �1  �3|}L��n2/n1=____________________

A
     

A. (
�
2C�1) / (kT)                    B. exp[ �2 / (kT)] / exp[ �1 / (kT)]     

C. exp[C( �2C�1) / (kT)]              D. exp[C�2 / (kT)] / exp[C�1 / (kT)]     
7.  25P2-1pM 100 kPa

3
2 m

3
E]6���1

50 kPa����0�1F.M�-�� nE]¡�¢£CW=_______________A    
8.  
�/0�12-¤ CaCO3(s)

0
CaO(s)

0
BaCO3(s)

0
BaO(s)� CO2(g)¥¦3§FIJ=>3¨©ªcLM

 ______________-«¤�LM___________A 
9. CaCl2Z[3i¬­�®�M b-�Z[3¯}I�i¬­�®� b°=_________A  
10.  25P2±²67 2 A ³� B 

3´µKLM
k-¶9·4¸ S¹-67´µ8º»¼

10 k
A½/�2-67 B³� 2 A

3´µKLM
0.1 sY1-¶9·4¸ S¹-�673´µKL

k’=   _______________
A
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.(20ÕÕÕÕ)  Ö 100 kPa×Ø 1 mol He(g)Ù 100ÚÛÜÝ 200ÚÞßàáâãäQåWåæ

UåæSçæGèéê 100Ú×He(g)
äëìíîïð

130.2 J ñKò1 ñmolò1ÞHe(g)óôõö÷øùè 
 úúúú
.(20 ûûûû)  ü NH4HS(s)ýþÿ������25���	
NH3(g)� H2S(g)�
��������


66.8kPa��ýþ NH4HS(s)
������

40.0 kPa
�
H2S(g)��� 25���������� !"#

      

 $$$$
.(20%%%%)  & '()*+ 80,-�./+ 393 J/g

#01
25,�& 2�!3 26.7 

kPa4& )*#     
 5555
.(206666)  789Hg2Cl2(s) + H2[p(H2)]  ==  2 Hg(l) + 2 HCl[b(HCl)]  :;<=>

(?@=>ABC)DE p(H2)=101.3 kPaFb(HCl)=0.1 mol/kg GFHIJKL89M=>=NOPQRST
TUVWXYZVW[\] 1.88 1̂0_3 V/KZ̀ a]

0.0694 V
Zbc

25defgbhijhklmhinojp
rHmqprSmrprGms    

 tttt
.(20uuuu)  vwxyz{|}~��     

           CH3COOCH3 + NaOH  ==  CH3COONa + CH3OH     �{zy������
298 K����������(0.02 mol �dm�3)�������������

5 min� ¡��¢��£¤¥ ¦.34§10�3 mol d̈m�3�©ª«  
(1) 
���¬­®¯°    

(2) 
��

10 min����¢��£¤° 
(3) 
��±²³° 

(4) ´µ£¤¶¥ 0.01 mol d̈m�3�·¸¹���������º»�����±²³¼
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.(8¾¾¾¾)  ¿ÀÁÂÃ    

                            2 HI  Ä�  H2 + I2      Å
283ÆÇ 300ÆÈÉÊËÌÍÎÏÐ 3.50Ñ10Ò7 dm3 Ó

molÒ1 ÓsÒ1  Ç  1.14Ñ10Ò6   
dm

3 Ô
molÕ1 ÔsÕ1Ö×ØÙÚÛÜÝÞßÖ  

 àààà
.(12áááá)  20âãäåæçèéê 72.75 mN ëmì1íîïê 10

3
 kg ëmì3ðñò 0â ~   

100 â óôõö÷øùúûüýþÿ���vapHm = 40.67 kJ/mol
���

20�����	
10
7 cmø�ù�
ú���      
  


